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1. Indicate which of the following are Irrational Numbers. If it is not a rational number, please simplify the
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2. Use a number line to order these numbers from the least to the greatest, then place them on a number line
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3. Find the decimal representation for following. Indicate any pattems that you see:
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b)V;'h.llpununsdD)wm about fractions with a dencminator of 137 How many repeating digts are
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4 Which of the following statements are true?
@Aﬂ natural numbers are mtegers.
@All integers are rational numbers.
1ii) All whole numbers are natural numbers
1v) All srational numbers are roots
@Some rational numbers are natural numbers
v1) The sum a rational number and an irrational oumber will be rational
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vi) The sum a rational number and an irrational aumber will be rational
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5. Write a number that is
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b) a whole mumber but not a natural oumber ()

) write a number that 1s not a real number C
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6. N&uD&pﬂn&ed«mﬂmmof%u 0294117647, Use thus information to find the
remaining digits in the repeating pattem. 0.2"]4 | [ rlé‘f"[o'i? 82 3 S
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7. Create your own venn diagram to show how the following numbers are related: Real Numbers, Imagimary
Numbers, Rational Numbers, Irational Numbers, Whole Numbers_ Integers, Nanural Numbers You may

use the ivternet for reference.
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8. Evaluate each of the following without a calculator: Show all your work and justify your sohation:
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10. Suppose you know that v%isnﬂliullm.ﬁa and that ‘2" and B bave oo common factors. What
cam you say about the prime factorizations of a“and b7
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